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® AD//BC, /B = /D

@ AB=DC, /A =/D

@)= 9749 28< 0 2 & w), 0A = OB, OC = OD
@ /B = /D, /BAC = /DCA

® AABC = ACDA

® OA =0C, OB = OD ©J°]oF B g o] Hrt,




oS 9] A ABCD A /PAB = /PAD, /APB =
90°, /D =80° ¥ o], /PBC ¢] Z7|& F5}H?

A D
80°

@ 30° @3 @) @ 45° ® 50°

S5 ~
/A + /B = 180°
/BAP = (180° — 80°) = 2 = 50°
LABP = 90° - 50° = 40°
- /PBC = 80° — 40° = 40°




5.  HYPAPATY ABCD oA LA =100°, /D=280° ¥ , x, yo| 427

A D
100° 80°
T Y
B C
® zx=60°, 1y =120° @ 1x="70°, 1y=110°
@Ax=80°, /y =100° @ /x=90°, /y=190°

® £x=100°, sy =80°

(A =/y=100°, /D=/x=80°




6. oS 1 22 WER ABCD oA zx o] 2715 FolH?

T >

25 C

@ 25° @ 45° @ 50° @65° ® 75°

Hizbilo] 3 ke o SESEE ABO = 25° 0|1, /AOB =
90°
w2kA] zx = 90° — 25° = 65° O]t}




7. O= 199 gABCD = P& 2ol

(ABD =30° 4 o, .C 9] 27|17
30° D

oJ

@ 100° @120° ® 140°

@ 150° ® 155°

AB//CD ©]2& /ABD = /CDB = 30°, CB = CD ©°|2&
/CDB = /CBD = 30°
5 2C =180° - 30° x 2 = 120°




